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Properties of the Definite Integral- The following functions f and g.
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Example 1: If it is known that !/ x)dx=1.5 “/ x) dx =21 ?and x) dx = 61/3,find
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Eglﬁalple 2: Use the graph of f(x) with the indicated areas below to answer the following.

areaof A: 2.0
areca of B: 1.
“area of C: 2.5
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We can evaluate a definite integral exactly using the Fundamental Theorem of Calculus, Part 2:
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The/Fundamental Theorem of Calculus, Part 2 - Suppose f is continuous onﬂa,b]. ’
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Example 3: Evaluate the followmg integrals:
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Using fnint on the Calculator - We can estimate the definite integral f x using the calculator:

1. Type f(x) into ¥; by pressing the y = button.

2. From your homescreen, press MATH and then

Example 4: Find M again using fnint (from Example 3). your answer to 4 decimal places.
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Interpreting the Definite Integral as Change - We can also interpret the definite integral of a rate of change
function as the change in its antiderivative from x = a to x =
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Example 6: A honeybee population starts with 200 honeybees and increases at a rate ofé( ) = 100e? pees per

week, where 7 1s in weeks and ¢ > 0. —
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a) Find the change in the honeybee population over th@ v;@lamd to the nearest integer, if necessary,

Wn(z@——n(e) = f4m () It = j‘f

DU e = [48T12. F1%.

+ caleulse 2LV ATTE bees
dePivie Mtegisd . = 2&-(e"- 1)

b) Find the change in the honeybee population over the second 4 week period. Round to the nearestynteger, if
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c) What will be the total change in the honeybee population during the seventh and eighth weeks? Round to the
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